3 ot dd 6 46y

Blite n8) DS g

ol

+
\)
N —

(O N\

+
N | =

(O N

+
OSTI \S

-

ol
_|_
|
I

+
ool N

B~ —

O |
+
ol
I

Nl ]
+
Nl ]
|

W
D[ —

NoJ RN
+
(O N\

O | —
_|_
NN )
Il

www.snowmath.com

Al

e DH



https://www.snowmath.com

¥ th i il e e

anil: dagull b
2,120
5 2 1 10
4 1 13 3
4= ==
5 2 1 10
1 2 11
D=

4 3 1

4 6 19 5
T
8 7 1 14
l+§:1

4 8

5 7 103 31
RTE eau Rl
9 8 7 72
2 2 4

T =_

9 9 9
12 3 1
2 7 1 14
7 2 53 8
ST e
9 5 5 45
1 2 5

4+ ==

8 4 8

www.snowmath.com



https://www.snowmath.com

